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Abstract

Feedback herding strategy in stock market
means considering other investor's strategy as
a basis of market forecasting of next term.
Generally, individual investors use that strategy
which mimics the strategy of institutional
investors. When it is used in stock market,
both kind of investors, preceders and followers,
can take the higher average of rate of return
to normal market in which no feedback herding
strategy is not use, the more investors take
part in. And variance of return, the risk of
investment, are same to both group.
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